TWMS J. App. and Eng. Math. V.13, N.4, 2023, pp. 1472-1480

UPPER BOUND FOR THIRD HANKEL DETERMINANT OF A CLASS OF ANALYTIC FUNCTIONS

S. VERMA¹, R. KUMAR^{1*}, G.MURUGUSUNDARAMOORTHY², §

ABSTRACT. We establish upper bounds for second Hankel determinant, the Fekete-Szegö functional and third Hankel determinant for normalized analytic functions $f \in W_{\beta}(\alpha, \gamma)$,

$$\mathcal{W}_{\beta}(\alpha,\gamma) = \left\{ f : \operatorname{Re}\left((1-\alpha+2\gamma)\frac{f(z)}{z} + (\alpha-2\gamma)f'(z) + \gamma z f''(z) \right) > \beta \right\},\$$

where $\alpha, \gamma \geq 0$ and $\beta < 1$. Also, we show that these bounds reduce to the bounds of some well-known classes for particular choices of parameters α, γ and β .

Keywords: Analytic functions, Coefficient inequalities, Hankel determinant, Fekete-Szegö.

AMS Subject Classification: 30C45, 30C50.

1. INTRODUCTION AND DEFINITIONS

Let \mathcal{A} be the class of normalized analytic functions f, defined in the unit disc $\mathbb{E} = \{z : |z| < 1\}$ and given by

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n.$$
 (1)

Let \mathcal{S} be the subclass of \mathcal{A} consisting of functions univalent in \mathbb{E} .

Recently, Ali *et al.* [2] defined a class $\mathcal{W}_{\beta}(\alpha, \gamma)$ of normalized analytic functions defined in \mathbb{E} such that function $f \in \mathcal{W}_{\beta}(\alpha, \gamma)$ satisfy the condition

$$\operatorname{Re}\left((1-\alpha+2\gamma)\frac{f(z)}{z}+(\alpha-2\gamma)f'(z)+\gamma zf''(z)\right)>\beta,$$

² Department of Mathematics, School of Advanced Sciences, Vellore Institute of Technology, Vellore, 632014, India.

¹ Department of Mathematics, Manipal Institute of Technology, MAHE, Manipal-576104, India. e-mail: sarika.16984@gmail.com; ORCID: https://orcid.org/0000-0002-7747-0401. e-mail: rajgarg2012@yahoo.co.in; ORCID: https://orcid.org/0000-0001-9277-0915.

^{*} Corresponding author.

e-mail: gmsmoorthy@yahoo.com; ORCID: https://orcid.org/0000-0001-8285-6619.

[§] Manuscript received: July 30, 2021; accepted: December 02, 2021.

TWMS Journal of Applied and Engineering Mathematics, Vol.13, No.4 © Işık University, Department of Mathematics, 2023; all rights reserved.

for all $z \in \mathbb{E}$. Here $\alpha, \gamma \geq 0$ and $\beta < 1$. For various choices of α, γ and β , the class $\mathcal{W}_{\beta}(\alpha, \gamma)$ unify some well-known subclasses of \mathcal{S} as mentioned below:

(1) For $\alpha = 1$, $\gamma = 0$ and $\beta = 0$, the class $\mathcal{W}_{\beta}(\alpha, \gamma)$ reduces to the well-known class \mathcal{R} ,

$$\mathcal{R} = \left\{ f \in \mathcal{A} : \operatorname{Re}(f'(z)) > 0 \right\}$$

see [12]. The members of class \mathcal{R} are close-to-convex and hence univalent in \mathbb{E} (see [5, 12]).

(2) For $\alpha = 1 + 2\gamma$ and $\beta = 0$, the class $\mathcal{W}_{\beta}(\alpha, \gamma)$ reduces to the class \mathcal{R}_{γ} , where

$$\mathcal{R}_{\gamma} = \left\{ f \in \mathcal{A} : \operatorname{Re}\left(f'(z) + \gamma z f''(z)\right) > 0 \right\}.$$

It is well-known that \mathcal{R}_1 is a subclass of \mathcal{S}^* , the class of univalent starlike functions in \mathbb{E} . Also, $\mathcal{R}_1 \not\subset \mathcal{K}$, the class of univalent convex functions in \mathbb{E} (see [17]).

(3) For $\alpha = \gamma = 0$, the class $\mathcal{W}_{\beta}(\alpha, \gamma)$ reduces to the class \mathcal{T}_{β} , where

$$\mathcal{T}_{\beta} = \left\{ f \in \mathcal{A} : \operatorname{Re}\left(\frac{f(z)}{z}\right) > \beta \right\}.$$

(4) For $\gamma = 0$, the class $\mathcal{W}_{\beta}(\alpha, \gamma)$ reduces to the class

$$P_{\beta}(\alpha) = \left\{ f \in \mathcal{A} : \operatorname{Re}\left((1-\alpha)\frac{f(z)}{z} + \alpha f'(z) \right) > \beta \right\}.$$

One can see that $P_{\beta}(\alpha_1) \subset P_{\beta}(\alpha_2)$ for $\alpha_1 > \alpha_2 \ge 0$. Therefore, for $\alpha \ge 1, 0 \le \beta < 1$, $P_{\beta}(\alpha) \subset P_{\beta}(1) = \{f \in \mathcal{A} : \operatorname{Re} f'(z) > 0\}$ and hence $P_{\beta}(\alpha)$ is univalent class (see [5, 12])

In 1976, Noonan and Thomas [15] defined the *qth* Hankel determinant $H_q(n)$ of f for $q \ge 1$ and $n \ge 1$ by

$$H_q(n) = \begin{vmatrix} a_n & a_{n+1} \dots & a_{n+q-1} \\ a_{n+1} & \dots & \vdots \\ \vdots & & & \\ a_{n+q-1} & \dots & a_{n+2q-2} \end{vmatrix}.$$

In literature, much attention has been given to find upper bounds for the Hankel determinant whose elements are the coefficients of univalent functions, see e.g. [6, 8, 9, 16, 18]. The correct order of growth for $H_q(n)$ when $f \in S$ is as yet unknown [16], whereas exact bounds have been obtained in the case q = 2 and n = 2 for a variety of subclasses of S, most of these stemming from the method used in [11]. In 2007, Babalola [3] studied the third Hankel determinant $H_3(1)$ for some subclasses of analytic functions. By definition, $H_3(1)$ is given by

$$H_3(1) = \begin{vmatrix} a_1 & a_2 & a_3 \\ a_2 & a_3 & a_4 \\ a_3 & a_4 & a_5 \end{vmatrix}.$$

For $f \in \mathcal{A}$,

$$H_3(1) = a_3 \left(a_2 a_4 - a_3^2 \right) + a_4 \left(a_2 a_3 - a_4 \right) + a_5 \left(a_3 - a_2^2 \right), \quad a_1 = 1.$$

By triangle inequality,

$$|H_3(1)| \le |a_3| \left| a_2 a_4 - a_3^2 \right| + |a_4| \left| a_2 a_3 - a_4 \right| + |a_5| \left| a_3 - a_2^2 \right|.$$
(2)

Here, $|a_3 - a_2^2|$ is the well-known Fekete-Szegö functional and $|a_2a_4 - a_3^2|$ is the second hankel determinant $H_2(2)$. In this paper, we will establish upper bounds for $H_2(2)$, Fekete-Szegö functional and $H_3(1)$ for $f \in \mathcal{W}_\beta(\alpha, \gamma)$. We will also show that these bounds reduce to the bounds of some well-known classes for particular choices of parameters.

Let \mathcal{P} be the family of all functions p(z) given by

$$p(z) = 1 + p_1 z + p_2 z^2 + \dots$$

analytic in \mathbb{E} for which $\operatorname{Re}(p(z)) > 0$ for $z \in \mathbb{E}$. It is well-known that for $p \in \mathcal{P}$, $|p_k| \leq 2$ for each $k \geq 1$.

Following lemma due to Libera and Zlotkiewicz [10, 11] is instrumental in proving our main result.

Lemma 1.1. Let $p(z) = 1 + p_1 z + p_2 z^2 + \cdots$ belongs to \mathcal{P} . Then

$$2p_2 = p_1^2 + x(4 - p_1^2) \text{ and} 4p_3 = p_1^3 + 2xp_1(4 - p_1^2) - x^2p_1(4 - p_1^2) + 2\zeta(1 - |x|^2)(4 - p_1^2)$$

for some x, ζ such that $|x| \leq 1$ and $|\zeta| \leq 1$.

The following two lemmas due to Ali [1] are also required to prove our results.

Lemma 1.2. If $p(z) = 1 + p_1 z + p_2 z^2 + ...$ belongs to \mathcal{P} , then

$$|p_2 - vp_1^2| \le 2 \max\{1, |2v - 1|\}.$$

Lemma 1.3. Let $p(z) = 1 + p_1 z + p_2 z^2 + ...$ belongs to \mathcal{P} . If $0 \le B \le 1$ and $B(2B-1) \le D \le B$, then

$$|p_3 - 2Bp_1p_2 + Dp_1^3| \le 2$$

We use the notations introduced in [2]. Let $\mu \ge 0$ and $\nu \ge 0$ satisfy

$$\mu + \nu = \alpha - \gamma \quad \text{and} \quad \mu \nu = \gamma.$$
 (3)

- When $\gamma = 0$, then μ is chosen to be 0, in this case, $\nu = \alpha \ge 0$.
- When α = 1 + 2γ, then μ + ν = 1 + γ = 1 + μν or (μ − 1)(1 − ν) = 0.
 i. For γ > 0, then choosing μ = 1 gives ν = γ.
 ii. For γ = 0, then μ = 0 and ν = α = 1.

Theorem 1.1. Let $0 \le \mu \le 1$, $0 \le \nu \le 1$ satisfy (3). If $f \in W_{\beta}(\alpha, \gamma)$ with $0 \le \beta < 1$, then

$$H_2(2) \le \frac{4(1-\beta)^2}{(1+2\mu)^2(1+2\nu)^2}.$$
(4)

Proof. Since $f \in \mathcal{W}_{\beta}(\alpha, \gamma)$, therefore

$$\frac{\left((1-\alpha+2\gamma)\frac{f(z)}{z}+(\alpha-2\gamma)f'(z)+\gamma z f''(z)-\beta\right)}{1-\beta} \in \mathcal{P}$$

There exist $p(z) \in \mathcal{P}$, where $p(z) = 1 + p_1 z + p_2 z^2 + \dots$, such that

$$(1-\alpha+2\gamma)\frac{f(z)}{z} + (\alpha-2\gamma)f'(z) + \gamma z f''(z) - \beta = (1-\beta)p(z).$$

In view of (3) the above equation becomes

$$(1 + \mu\nu - \mu - \nu)\frac{f(z)}{z} + (\mu + \nu - \mu\nu)f'(z) + \mu\nu z f''(z) - \beta = (1 - \beta)p(z).$$
(5)

1474

Substituting $p(z) = 1 + \sum_{n=1}^{\infty} p_n z^n$ and $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ in (5), we get

$$(1-\beta) + \sum_{n=2}^{\infty} \left[\mu \nu n^2 + (\mu + \nu - 2\mu\nu)n + (1 + \mu\nu - \mu - \nu) \right] a_n z^{n-1} = (1-\beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=2}^{\infty} \left[\mu \nu n^2 + (\mu + \nu - 2\mu\nu)n + (1 + \mu\nu - \mu - \nu) \right] a_n z^{n-1} = (1-\beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=2}^{\infty} \left[\mu \nu n^2 + (\mu + \nu - 2\mu\nu)n + (1 + \mu\nu - \mu - \nu) \right] a_n z^{n-1} = (1-\beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=2}^{\infty} \left[\mu \nu n^2 + (\mu + \nu - 2\mu\nu)n + (1 + \mu\nu - \mu - \nu) \right] a_n z^{n-1} = (1-\beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=2}^{\infty} \left[\mu \nu n^2 + (\mu + \nu - 2\mu\nu)n + (1 + \mu\nu - \mu - \nu) \right] a_n z^{n-1} = (1-\beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=2}^{\infty} \left[\mu \nu n^2 + (\mu + \nu - 2\mu\nu)n + (1 + \mu\nu - \mu - \nu) \right] a_n z^{n-1} = (1-\beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=1}^{\infty} \left[\mu \nu n^2 + (\mu + \nu - 2\mu\nu)n + (1 + \mu\nu - \mu - \nu) \right] a_n z^{n-1} = (1 + \beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=1}^{\infty} \left[\mu \nu n^2 + (\mu + \nu - 2\mu\nu)n + (1 + \mu\nu - \mu - \nu) \right] a_n z^{n-1} = (1 + \beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=1}^{\infty} \left[\mu \nu n^2 + (\mu + \nu - 2\mu\nu)n + (1 + \mu\nu - \mu - \nu) \right] a_n z^{n-1} = (1 + \beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=1}^{\infty} \left[\mu \nu n^2 + (\mu + \nu - 2\mu\nu)n + (1 + \mu\nu - \mu - \nu) \right] a_n z^{n-1} = (1 + \beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=1}^{\infty} \left[\mu \nu n^2 + (\mu + \nu - 2\mu\nu)n + (1 + \mu\nu - \mu - \mu) \right] a_n z^{n-1} = (1 + \beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=1}^{\infty} \left[\mu \nu n^2 + (1 + \mu\nu - \mu) \right] a_n z^{n-1} = (1 + \beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=1}^{\infty} \left[\mu \mu n^2 + (1 + \mu\nu - \mu) \right] a_n z^{n-1} = (1 + \beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=1}^{\infty} \left[\mu \mu n^2 + (1 + \mu\nu - \mu) \right] a_n z^{n-1} = (1 + \beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n \right) + \sum_{n=1}^{\infty} \left[\mu \mu n^2 + (1 + \mu\nu - \mu) \right] a_n z^{n-1} = (1 + \mu\nu - \mu) \left[\mu \mu n^2 + (1 + \mu\nu - \mu) \right] a_n z^{n-1} = (1 + \mu\nu - \mu) \left[\mu \mu n^2 + (1 + \mu\nu - \mu) \right] a_n z^{n-1} = (1 + \mu\nu - \mu) \left[\mu \mu n^2 + (1 + \mu\nu - \mu) \right] a_n z^{n-1} = (1 + \mu\mu n^2 + \mu\nu - \mu) \left[\mu n^2 + (1 + \mu\mu - \mu) \right] a_n z^{n-1} = (1 + \mu\mu n^2 + \mu\mu n^2$$

Equivalently,

$$(1-\beta) + \sum_{n=2}^{\infty} \left(1 + (n-1)\mu\right) \left(1 + (n-1)\nu\right) a_n z^{n-1} = (1-\beta) \left(1 + \sum_{n=1}^{\infty} p_n z^n\right).$$

On equating the corresponding coefficients, we have

$$a_{2} = \frac{(1-\beta)}{(1+\mu)(1+\nu)}p_{1}$$

$$a_{3} = \frac{(1-\beta)}{(1+2\mu)(1+2\nu)}p_{2}$$

$$a_{4} = \frac{(1-\beta)}{(1+3\mu)(1+3\nu)}p_{3}$$

$$a_{5} = \frac{(1-\beta)}{(1+4\mu)(1+4\nu)}p_{4}.$$
(6)

Let $L = (1 + \mu) (1 + \nu) (1 + 3\mu) (1 + 3\nu)$ and $M = (1 + 2\mu)^2 (1 + 2\nu)^2$. Note that for $0 \le \mu \le 1$ and $0 \le \nu \le 1$,

$$M > 0$$
, $L > 0$, $M - L \ge 0$ and $M - 2L < 0$.

Using (6) together with the values of L and M, the second hankel determinant becomes

$$H_2(2) = |a_2a_4 - a_3^2| = (1 - \beta)^2 \left| \frac{p_1p_3}{L} - \frac{p_2^2}{M} \right| = \frac{(1 - \beta)^2}{LM} \left| Mp_1p_3 - Lp_2^2 \right|.$$

Making use of Lemma 1.1 the above equation becomes

$$H_2(2) = \frac{(1-\beta)^2}{4LM} \left| (M-L) p_1^4 + 2(M-L) p_1^2 x \left(4-p_1^2\right) - M p_1^2 \left(4-p_1^2\right) x^2 -L x^2 \left(4-p_1^2\right)^2 + 2M p_1 \left(4-p_1^2\right) \left(1-|x|^2\right) \zeta \right|.$$

Now, without loss of generality, normalise p_1 so that $p_1 = p$, for $0 \le p \le 2$. Using the triangle inequality, we get

$$H_{2}(2) \leq \frac{(1-\beta)^{2}}{4LM} \left\{ (M-L) p^{4} + 2 (M-L) p^{2} |x| (4-p^{2}) + Mp^{2} (4-p^{2}) |x|^{2} + L |x|^{2} (4-p^{2})^{2} + 2Mp (4-p^{2}) (1-|x|^{2}) \right\}$$
$$:= \frac{(1-\beta)^{2}}{4LM} \phi (|x|).$$

Differentiating $\phi(|x|)$ with respect to |x|, we have

$$\phi'(|x|) = 2(M-L)p^2(4-p^2) + 2|x|(4-p^2)(2-p)(2L-p(M-L)).$$

One can see that for $0 \le \mu \le 1$, $0 \le \nu \le 1$ and $0 \le p \le 2$, $\phi'(|x|) \ge 0$. Thus $\phi(|x|) \le \phi(1)$ and hence

$$H_{2}(2) \leq \frac{(1-\beta)^{2}}{4LM} \left\{ (M-L) p^{4} + 2 (M-L) p^{2} (4-p^{2}) + Mp^{2} (4-p^{2}) + L (4-p^{2})^{2} \right\}$$
$$:= \frac{(1-\beta)^{2}}{4LM} g(p).$$

Solving g'(p) = 0 we have

$$p = 0$$
, $p = \sqrt{\frac{3M - 4L}{M - L}}$ and $p = -\sqrt{\frac{3M - 4L}{M - L}}$

Since 3M - 4L < 0 for $0 \le \mu, \nu \le 1$, therefore g(p) has only one critical point at p = 0. Further

$$g''(p)\big|_{p=0} = 8(3M - 4L) < 0$$

Thus g(p) attains its maximum value at p = 0, i.e. $g(p) \leq g(0) \forall p \in [0, 2]$. Hence

$$H_2(2) \le \frac{(1-\beta)^2}{4LM} 16L = \frac{4(1-\beta)^2}{M} = \frac{4(1-\beta)^2}{(1+2\mu)^2(1+2\nu)^2}.$$

This completes the proof of Theorem 1.1.

For particular values of α and γ , we will get various known results from Theorem 1.1. Letting $\alpha = \gamma = 0$ (which means $\mu = \nu = 0$) in Theorem 1.1, we obtain the following result of Hayami and Owa [7].

Corollary 1.1. If $f \in A$ satisfies

$$Re\frac{f(z)}{z} > \beta$$

with $0 \leq \beta < 1$, then

$$H_2(2) \le 4 (1 - \beta)^2.$$

If $\gamma = \beta = 0$, then $\mu = 0$ and $\nu = \alpha = 1$, we get the following result of Janteng et. al. [8].

Corollary 1.2. If $f \in \mathcal{A}$ satisfies $\operatorname{Ref}'(z) > 0$ then $H_2(2) \leq \frac{4}{9}$.

If $\alpha = 1 + 2\gamma$ with $\gamma > 0$ and $\mu = 1$ then $\nu = \gamma > 0$. In this case, we get the following result obtained by Mohamed et. al. [13].

Corollary 1.3. If $f \in \mathcal{A}$ satisfies $Re(f'(z) + \gamma z f''(z)) > 0$ for $\gamma \geq 0$ then

$$H_2(2) \le \frac{4}{9(1+2\gamma)^2}.$$

If $\gamma = \beta = 0$, then $\mu = 0$ and $\nu = \alpha > 0$, we get the result due to Murugusundaramoorthy and Magesh [14].

Corollary 1.4. If $f \in \mathcal{A}$ satisfies $Re\left((1-\alpha)\frac{f(z)}{z} + \alpha f'(z)\right) > 0$ then $H_2(2) \leq \frac{4}{(1+2\alpha)^2}.$

Theorem 1.2. Let $0 \le \mu \le 1$, $0 \le \nu \le 1$ satisfy (3). If $f \in W_{\beta}(\alpha, \gamma)$ with $0 \le \beta < 1$, then

$$\left|a_{3}-a_{2}^{2}\right| \leq \frac{2\left(1-\beta\right)}{\left(1+2\mu\right)\left(1+2\nu\right)}.$$
(7)

1476

Proof. In the view of (6), one can see that

$$\left|a_{3}-a_{2}^{2}\right| = \left|(1-\beta)\frac{p_{2}}{(1+2\mu)(1+2\nu)} - (1-\beta)^{2}\frac{p_{1}^{2}}{(1+\mu)^{2}(1+\nu)^{2}}\right|.$$
(8)

Let $Q = (1 + 2\mu)(1 + 2\nu)$ and $R = (1 + \mu)^2(1 + \nu)^2$. Note that for $0 \le \mu \le 1$ and $0 \le \nu \le 1$,

$$Q > 0$$
, $R > 0$, $R - Q \ge 0$ and $R - 2Q > 0$.

Using Q and R, the equation (8) becomes

$$|a_3 - a_2^2| = \frac{(1-\beta)}{Q} \left| p_2 - \frac{(1-\beta)Q}{R} p_1^2 \right|.$$

Letting $v = \frac{(1-\beta)Q}{R}$ in Lemma 1.2, we get

$$\left| p_2 - \frac{(1-\beta)Q}{R} p_1^2 \right| \le 2 \max\left\{ 1, \left| \frac{2(1-\beta)Q}{R} - 1 \right| \right\}$$
$$= 2 \max\left\{ 1, \left| \frac{2(1-\beta)Q - R}{R} \right| \right\}$$

Since $R - Q \ge 0$ and $0 \le \beta < 1$, therefore $-R < 2(1 - \beta)Q - R \le 2Q - R \le 0$, and so $|2(1 - \beta)Q - R|$

$$\left|\frac{2(1-\beta)Q-R}{R}\right| \le 1.$$

Thus

$$\left| p_2 - \frac{(1-\beta)Q}{R} p_1^2 \right| \le 2 \max\left\{ 1, \left| \frac{2(1-\beta)Q - R}{R} \right| \right\} = 2.$$

Hence

$$\left|a_{3}-a_{2}^{2}\right| = \frac{(1-\beta)}{Q}\left|p_{2}-\frac{(1-\beta)Q}{R}p_{1}^{2}\right| \le \frac{2(1-\beta)}{Q} = \frac{2(1-\beta)}{(1+2\mu)(1+2\nu)}.$$

Taking various permissible values of α, γ and β , we obtain several special cases of above result.

Remark 1.1.

- i. For $\alpha = \gamma = 0$, that is $\mu = \nu = 0$, Theorem 1.2 yields a particular case of Theorem 3.1 in [7].
- ii. For $\gamma = \beta = 0$ with $\mu = 0$ and $\nu = \alpha = 1$, Theorem 1.2 gives a result of Babalola and Opoola [4].

Theorem 1.3. Let $0 \le \mu \le 1$, $0 \le \nu \le 1$ satisfy (3). If $f \in W_{\beta}(\alpha, \gamma)$ with $0 \le \beta < 1$, then

$$|a_4 - a_2 a_3| \le \frac{2(1-\beta)}{(1+3\mu)(1+3\nu)}.$$
(9)

Proof. In the view of (6), one can see that

$$|a_4 - a_2 a_3| = \left| \frac{(1-\beta)p_3}{(1+3\mu)(1+3\nu)} - \frac{(1-\beta)^2 p_1 p_2}{(1+\mu)(1+\nu)(1+2\mu)(1+2\nu)} \right|.$$

Let $S = (1+3\mu)(1+3\nu)$ and $T = (1+\mu)(1+\nu)(1+2\mu)(1+2\nu)$. Note that for $0 \le \mu, \nu \le 1$, $S > 0, \quad T > 0 \quad \text{and} \quad T - S \ge 0.$ (10) Thus

$$|a_4 - a_2 a_3| = \frac{(1 - \beta)}{S} \left| p_3 - \frac{(1 - \beta)S}{T} p_1 p_2 \right|$$

Applying Lemma 1.3 with $2B = \frac{(1-\beta)S}{T}$ and D = 0, we have

$$\left| p_3 - \frac{(1-\beta)S}{T} p_1 p_2 \right| \le 2,$$

provided

$$0 \le B \le 1$$
 and $B(2B-1) \le D \le B$.

Using (10) and the fact that $0 \leq \beta < 1$, we have

$$0 < B = \frac{(1-\beta)S}{2T} \le \frac{1}{2} < 1.$$

Consequently, for D = 0 we have

$$B(2B-1) \le D \le B$$

Finally, in the view of Lemma 1.3, we have

$$|a_4 - a_2 a_3| = \frac{(1-\beta)}{S} \left| p_3 - \frac{(1-\beta)S}{T} p_1 p_2 \right| \le \frac{2(1-\beta)}{S} = \frac{2(1-\beta)}{(1+3\mu)(1+3\nu)}.$$
mpletes the proof of Theorem 1.3.

This completes the proof of Theorem 1.3.

Setting $\gamma = \beta = 0$ with $\mu = 0$ and $\nu = \alpha = 1$ in Theorem 1.3, we get Theorem 3.1 of [3].

In the view of (4), (6), (7) and (9), one can see that for $f \in \mathcal{W}_{\beta}(\alpha, \gamma)$ with $0 \leq \beta < 1$, we have the following information:

$$\begin{aligned} |a_3| &\leq \frac{2(1-\beta)}{(1+2\mu)(1+2\nu)}, \\ |a_4| &\leq \frac{2(1-\beta)}{(1+3\mu)(1+3\nu)}, \\ |a_5| &\leq \frac{2(1-\beta)}{(1+4\mu)(1+4\nu)}. \\ |a_2a_4 - a_3^2| &\leq \frac{4(1-\beta)^2}{(1+2\mu)^2(1+2\nu)^2}, \\ |a_3 - a_2^2| &\leq \frac{2(1-\beta)}{(1+2\mu)(1+2\nu)}, \\ |a_4 - a_2a_3| &\leq \frac{2(1-\beta)}{(1+3\mu)(1+3\nu)}. \end{aligned}$$

Substituting all these values in (2), we have

 $|H_3(1)| \le \frac{8(1-\beta)^3}{(1+2\mu)^3 (1+2\nu)^3} + \frac{4(1-\beta)^2}{(1+3\mu)^2 (1+3\nu)^2} + \frac{4(1-\beta)^2}{(1+2\mu) (1+2\nu) (1+4\mu)(1+4\nu)}.$ **Theorem 1.4.** Let $0 \le \mu \le 1$, $0 \le \nu \le 1$ satisfy (3). If $f \in \mathcal{W}_{\beta}(\alpha, \gamma)$ with $0 \le \beta < 1$, then

$$|H_3(1)| \le \frac{8(1-\beta)^3}{(1+2\mu)^3 (1+2\nu)^3} + \frac{4(1-\beta)^2}{(1+3\mu)^2 (1+3\nu)^2} + \frac{4(1-\beta)^2}{(1+2\mu) (1+2\nu) (1+4\mu)(1+4\nu)}.$$

1478

Remark 1.2. Setting $\gamma = \beta = 0$ with $\mu = 0$ and $\nu = \alpha = 1$ in Theorem 1.4, we get Corollary 3.2 of [3].

References

- Ali, R. M., (2003), Coefficients of the inverse of strongly starlike functions, Bull. Malays. Math. Sci. Soc., 26(2), pp. 63–71.
- [2] Ali, R. M., Badghaish, A. O., Ravichandran, V. and Swaminathan, A., (2012), Starlikeness of integral transforms and duality, J. Math. Anal. Appl., 385, pp. 808–822.
- Babalola, K. O., (2007), On H₃(1) Hankel determinant for some classes of univalent functions, Inequal. Theory Appl., 6, pp. 1–7.
- [4] Babalola, K. O. and Opoola, T. O., (2008), On the coefficients of certain analytic and univalent functions, Advances in Inequalities for Series (Edited by S. S. Dragomir and A. Sofo) Nova Science Publishers, pp. 5–17.
- [5] Chichra, P. N., (1977), New subclasses of the class of close-to-convex functions, Proc. Amer. Math. Soc., 62, pp. 37–43.
- [6] Hayman, W. K., (1968), On the second Hankel determinant of mean univalent functions, Proc. Lond. Math. Soc., (3)18, pp. 77–94.
- [7] Hayami, T. and Owa, S., (2010), Generalized Hankel determinant for certain classes, Int. J. Math. Anal., 52(4), pp. 2573–2585.
- [8] Janteng, A., Halim, S. A. and Darus, M., (2006), Coefficient inequality for a function whose derivative has a positive real part, J. Inequal. Pure Appl. Math., 7 No. 2, Article 50, 5 pp.
- [9] Janteng, A., Halim, S. and Darus, M., (2007), Hankel determinants for starlike and convex functions, Int. Journal. Math. Analysis, 1 no. 13, pp. 619–625.
- [10] Libera, R. J. and Zlotkiewicz, E. J., (1982), Early coefficients of the inverse of a regular convex function, Proc. Amer. Math. Soc., 85 (2), pp. 225–230.
- [11] Libera, R. J. and Zlotkiewicz, E. J., (1983), Coefficient bounds for the inverse of a function with derivative in *P*, Proc. Amer. Math. Soc, 87 No. 2, 251–257.
- [12] MacGregor, T. H., (1962), Functions whose derivative has a positive real part, Trans. Amer. Math. Soc., 104, pp. 532–537.
- [13] Mohamed, N., Mohamad, D. and Cik Soh, S., (2012), Second Hankel determinant for certain generalized classes of analytic functions, Int. J. Math. Anal., 6 no. 17-20, pp. 807–812.
- [14] Murugusundaramoorthy G. and Magesh, N., (2009), Coefficient inequalities for certain classes of analytic functions associated with Hankel determinant, Bull. Math. Anal. Appl., 1 (3), pp. 85–89.
- [15] Noonan, J. W. and Thomas, D. K., (1976), On the second Hankel determinant of areally mean p-valent functions, Trans. Amer. Math. Soc., 223 (2), pp. 337–346.
- [16] Pommerenke, C., (1967), On the Hankel determinants of univalent functions, Mathematika (London), 16 no. 13, pp. 108–112.
- [17] Singh, R. and Singh, S., (1989), Convolution properties of a class of starlike functions, Proc Amer. Math Soc., 106, pp. 145–152.
- [18] Thomas, D. K. and Verma, S., (2017), Invariance of the coefficients of strongly convex functions, Bull. Aust. Math. Soc., 95, pp. 436–445.



Dr. Sarika Verma is an Assistant Professor in the Department of Mathematics at DAV University Jalandhar. She completed her Ph.D. degree at Sant Longowal Institute of Engineering and Technology, Longowal in 2015 in the area of Complex analysis with a focus on univalent functions.



Dr. Raj Kumar is an Assistant Professor in the Department of Mathematics at DAV University Jalandhar. He obtained his doctorate from Sant Longowal Institute of Engineering and Technology, Longowal in the field of Geometric Function Theory. His area of research interests lie in deciphering the geometric properties of some univalent mappings.

Dr. G. Murugusundaramoorthy for the photography and short autobiography, see TWMS J. App. and Eng. Math. V.11, N.2.